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Precalculus 

2-02 Quadratic Equations 

𝑓ሺ𝑥ሻ = 𝑎𝑥2 + 𝑏𝑥 + 𝑐 

• ȁ𝑎ȁ > 1 → ___________________ 

• 0 < ȁ𝑎ȁ < 1 → ___________________ 

• 𝑎 < 0 → ___________________ over x-axis “opens ___________________” 

• 𝑎 > 0 → “opens ___________________” 

 

Standard Form 

𝑓ሺ𝑥ሻ = 𝑎ሺ𝑥 − ℎሻ2 + 𝑘 

• Vertex ___________________ 

• Axis of symmetry ___________________ 

To graph 

1. Find ___________________ 

2. Make ___________________ around vertex 

3. Draw ___________________ 

General Form 

𝑓ሺ𝑥ሻ = 𝑎𝑥2 + 𝑏𝑥 + 𝑐 

• Vertex ___________________ 

•  

• Axis ___________________ 

Graph 𝑓ሺ𝑥ሻ = 𝑥2 − 10𝑥 + 25 and identify the vertex and axis of symmetry 
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Write the standard form of the equation of parabola with vertex ሺ−4,  11ሻ and passes through ሺ−6,  15ሻ 

 

 

 

 

 

 

 

 

 

 

 

 

Maximum and minimum 

• Occurs at the ___________________ 

Quadratic formula 

𝑥 =
−𝑏 ± ξ𝑏2 − 4𝑎𝑐

2𝑎
 

Solve 8𝑥2 + 14𝑥 + 9 = 0 

 

 

 

 

 

 

 

 

 

 


